

کلف ۱۳

$$t_n = t_1 + (n-1)d$$

$$t_1 = 60$$

$$t_p = t_1 + 13d = 91$$

$$d = 1$$

$$60 + (n-1)1 = 91 \rightarrow n = 32$$

$$\rightarrow n = 32$$

$$99 < 1n + 1 < 1000$$

$$\rightarrow 98 < 1n < 999$$

$$\rightarrow \frac{98}{1} < n < \frac{999}{1} \rightarrow 15 < n < 142$$

$$\approx 15$$

$$\approx 142$$

$$142 = 15 + 1 = 156$$

$$a_{15} + a_{14} + a_{11} = -9 \times 12 + 12$$

$$\rightarrow a_{15} = -11$$

$$a_{14} = -29$$

$$a_{15} + a_{11} + a_9 = -9 \times 9 + 12$$

$$\rightarrow a_{11} = -1$$

$$a_{15} + a_{11} = -29 - 1 = -30$$

$$a_{10}, a_{11}, a_{12}$$

$\swarrow$ $\searrow$
 ω_d ω_d

$$r a_{11} = a_{10} + a_{12} \rightarrow r \times (r^2)^x = r - 1 + r^2 - r$$

$$\rightarrow r \times r^x = r^x (1 + r) - r$$

$$\Rightarrow r \times r^x - d \times r^x = -r \Rightarrow -r^x = -r \Rightarrow r^x = r$$

$$\rightarrow x = 1$$

$$a_{10} + a_{11} + a_{12} = r a_{11} \rightarrow r \times r^{1+1} = \boxed{1r}$$

$$a_{11} - a_{10} = d \rightarrow r d = d \rightarrow d = r d$$

$$a_{11} + a_{12} = r d \rightarrow a_{11} + 11d + a_{11} + 9d = r d$$

$$\underline{d = r d}, r a_{11} + 12 r d + r d = r d$$

$$\rightarrow r a_{11} = -12 r d \rightarrow a_{11} = -12 d$$

$$\rightarrow a_{11} = a_{10} + r d \rightarrow -12 d + d = -11 r d$$

$$\frac{1}{r}(\alpha_1 + \alpha_3) = \frac{1}{r}(\alpha_1 + \alpha_{10}) \times \frac{1}{r}$$

(X)

$$\rightarrow \alpha_1 + \alpha_3 = \frac{1}{r} \alpha_3 + \alpha_{10}$$

$$\alpha_n = \alpha_1 + (n-1)d$$

$$\rightarrow \alpha_1 + \alpha_1 + 12d = (\alpha_1 + \alpha_1 + 12d + 9d) \times \frac{1}{r}$$

(Y)

$$\times \frac{1}{r} \rightarrow \alpha_1 + 12d = \alpha_1 + 12d \rightarrow \alpha_1 = 12d \rightarrow \alpha_1 = \frac{12d}{r}$$

$$\frac{\alpha_r}{\alpha_1} = \frac{\alpha_1 + d}{\alpha_1} \rightarrow \frac{\frac{12d}{r} + d}{\frac{12d}{r}} = \frac{12d + rd}{12d}$$

(W)

$$t_n = t_{n-r} + 12d \rightarrow t_n - t_{n-r} = 12d$$

(V)

$$\rightarrow 12d = 12d \rightarrow d = 12d$$

$$t_n = \alpha_1 + (n-1)d$$

$$t_9 - t_0 \rightarrow (t_9 - t_0) \times (t_9 + t_0)$$

(Y)

$$\rightarrow 12d (12d + 12d)$$

$$\rightarrow 12d (12d + 12d)$$

$$12d \times 12d = 144d^2$$

(Z)

$$d = \frac{r + \sqrt{r} - r(1 - \sqrt{r})}{1\sqrt{r}} = \frac{1\sqrt{r}}{1\sqrt{r}} = \sqrt{r}$$

$$d = \frac{b - a}{n+1}$$

$$d = \frac{r - r}{(r - r) + 1} = \frac{r_0}{r(r - 1)} = \frac{1}{r - 1}$$

$$a_n = a_1 + (n-1)d \rightarrow a_n = 11 = a_1 + (n+1-1) \times d$$

$$\rightarrow 11 = a_1$$

$$d = \frac{r - r}{(r - r) + 1} \rightarrow d = \frac{r}{r - r}$$

$$r + d \cdot n = 11 \rightarrow r + \frac{r \cdot n}{r - r} = 11 \rightarrow \frac{r \cdot n}{r - r} = 9 \rightarrow r \cdot n = 9(r - r) \rightarrow \frac{r \cdot n}{r - r} = 9$$

$$a_n = a_1 + (n-1)d$$

$$a_n + a_{n+r} = a_r + a_n \Rightarrow (a_1 + (n-1)d) + (n+r)d = r + a_n$$

$$\rightarrow r + (n+r)d = r + a_1 + rd + rd \Rightarrow n + r = 11$$

$$d \neq 0 \rightarrow n = 11$$

$$\frac{a_n}{a_r} \rightarrow \frac{a_1}{a_r} \rightarrow \frac{a_1 + rd}{a_1 + rd} = r \rightarrow r(a_1 + rd) = a_1 + rd$$

$$\rightarrow ra_1 = -rd$$

$$\rightarrow a_1 = -rd$$

P

Date :

Subject :

$$a_n = a_1 + (n-1)d = 0 \quad \xrightarrow{a_1 = -d} \quad -d + (n-1)d$$

$$\Rightarrow \boxed{n=2}$$

